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EH
L- -4
EH O A
nZl Yol =
11 —_ A
a;xn3+ a,xn?+ a;xnl+ a;xn’+ b xn1+ b,xn"2

v

MSB(Most Significant Bit) LSB(Least Significant Bit)

» Of| A
2Kl 012 Ei}ioww.oi{z.zs
8EIZ:0,..,72 H, 5432.1 >2842.125
167125:0,..9A,.. . F2 HE 3, 2FA 5762
10%8/4=:13.759| CtE ZE L 2o H T
2812=:1101.11
8XlZ4=:15.6
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El



Yot Mol BEHYY
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» 19| EH = (1’s complement)
kR}E|2 B3 G| 2RI NO| 19| 2L (2k1)-NO 2 X 9|,
274N 19| E4~: 051,150
0f: 101010 010101

» 29| H=(2’s complement)
kXI2| 2 B3 T = 2XI2= NO| 29| H4~=2kNO 2 A O|.
2XIZ2~NO| 20| E2-:0>1,1 D02 HHE 5,12 st
0f: 101010 ©>010101+1 010110
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El
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r +/-7|2 L RSHIE ) OfF| #1:-7E 5hitC 2 H
AL Al

»  NDIt2 == FEA|Z [Ij Signed magni.: 10111
1bit= 22, N-1 bit= 3 1’s complement: 1 1000
7] ME HA| 2's complement: 1 1001

0 12 » 8bit2 H4 HA|S I ®3

THS 320 W

» 37R| EfAl

Signed magnitude Signed mag.: +127~-127

1’s comp.: +127~-127
2’s comp.: +127 ~-128

» 2’s complement BfA! X} EH

Signed 1’'s complement
Signed 2’s complement



Al

40| E#

 BEL2HO| 93t 450 B

» Jt B K| +F 2 L5 0 2o

» 0]: 1234.56 20.123456x104

> IEEE H 0L (':,_PE;' ) : 32bit [ 1bit(sign):8bit(E: X| %=
2): 23b1tiM A

F ®EA|S Xf 1.M x 2E-127
» Of xu. 1.001010000 x 2872 [EEE EZX &Aoo 2 3
staf.

K| E.: -87+127=40=00101000, 7}2=E: 00101000...
>0 00101000 001010000...0 (23bit)
» IEEE H =CF:
Hi & £ (64bit): 1(S):11(E):52(M)
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» ASCII Code
American Standard Code for Information Interchange (ASCII)
7bit?1287H = At (E 2 E 7hseh 9471 2] &AL, 3471 2] A Of
=X
947)1°| Z 2l E Jts &A}: 0~9 ==K}, A~Z, a~z

» EBCDIC(Extended BCD Interchanged Code): IBM2| | @l

) o SOM AR E
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» Unicode
F U E(Unicode)= © MA 2| 2= EArE Z=EHO0AM Z&
A #£o5tA ChE o= Y= A= - £ 0|
In Wikipedia
(http://ko.wikipedia.org/wiki/%EC%9C%A0%EB%38B%38
YNEC%BD%94%EB%93%9C)
E[ 41 E2 2009 1020 S/l FLIZE5.2
UTF-8
QUTEE 9[3h 7 20| 27 Q1R E wrAlo] st

ot ZAt HA| 25l 1byte~4byte AlE

8 \\%E et senu@hallym.ac.kr


http://ko.wikipedia.org/wiki/%EC%BB%B4%ED%93%A8%ED%84%B0
http://ko.wikipedia.org/wiki/%ED%91%9C%EC%A4%80
http://ko.wikipedia.org/wiki/%EC%9C%A0%EB%8B%88%EC%BD%94%EB%93%9C
http://ko.wikipedia.org/wiki/%EC%9C%A0%EB%8B%88%EC%BD%94%EB%93%9C

A :
40| Ol Ak G ag
» Q30| G4 Y- Y (=Y + 24 2
0+0=0, 0+1=1, 1+1=10 1}<0)
YO (YR GR F 0 Ex 713
__II_|'>O +7: 0 0111
o -13: 1 0011
13 h 01101 sum: 1 1010 (=-6),C=0
132
' y L=~+QF=~ (No overflow
-7: 11001 (2’s compl.) OE"_ 607_'_( )
X.; 6+
Sum: 00110, carry=1 +6: 0 0110
+7: 0 0111

sum: 0 1101 (=+13)



» Y+ Y (LHEZER U= » ST+taT (RYEE QS
8% » Ex.:-6 +(-7)
Ex: 13+7 -6:1 1010
+13: 0 1101 -7:1 1001
+7: 0 0111 sum: 1 0011 (=-13), C=1 >

sum: 1 0100 (=-12), C=0
BEH7HSt HOIS HS

(overflow)

PSP

O O

Overflow = 42
Ex.:-13+(-7)

-13: 1 0011
-7: 1 1001

sum: 0 1100 (=12), C=1
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0.1011x2* + 0.1110x2°

Step 1: 0.1011x24>
0.001011x26

Step 2: 0.1110+0.001011
=1.000011

Step 3:0.1000011x27

, A
=

—
1EH) 7142 B3I ATts
Hi 74 &= (double precision) 7}
x

I
=

2EA: K== HE
BEA: Szt

» Ex.

(0.101x24)x(0.11x29)
1: 0.101x0.11=0.01111
2: 4+6=10
3:0.1111x2°
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» Gray code
OIF3H Q& X0l £52 ME Bt
H|ERF S8 XA LIEfL] = O]
o E dgf
E¥ot L2 0|8

» BCD (Binary Coded Data) code
4bito| 2%l == {MTI4=9| Zf XL
= HA[Ot= & H

0j]: 13d 0001 0011bcd

O I-
[0 CEMN

Of

1100

0 0000
1 0001
2 0011
3 0010
4 0110
5 0111
6 0101
7 0100
8

9

1101

—
o

1111

12




